BIC
10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

N
o

10°

10 100

1

1000 10*

100

rm676 x>/ (409728—5451)=0.992

BIC 471519.84 ABIC 0.000 AlogP 0.0000
X% 401075.22 Ax? 0.000 AlogP 0.0000

[ ABIC-S71760B4Z2640.8° = = = = — — =8 = — — — — —=5C
L &R -1760514 —522.2 ~30822 X
L5221 ¢ 5221 © 5311 5451 -
A AC ACF . . ACB,F .
50 100 150 200 250 300 350

350 iterations

rmé76 X2/ (409728—5451)=0.992
£~~~ "~ 1 "~ 1 - 1 T 1 T T " T 1T T T T T r T T
: , , , BIC 471519.84 ABIC 0.000 AlogP 0.0000 3
= Tttt X% 401075.22 ‘A 0.000 AlogP “0.0000
= 5221 ' 5221 ' 5311 ' f B4t 3
- A AC? N ACSF-I ....................... AC4B,
50 100
Fe2 147% 100+681 km/s
rm676 BLR 15000 NLR 900 km/s
L L A L A L A A A A A
----------------------------------------- 5 NLR
i ]
r"wl‘ljl-"‘_;'-"'d ""ﬂ‘--.'llh"Ln—-u'“-u"-.."ﬂll-H'"‘mfh r:
451 | Fell
. . ACEB7FI . ]
150 200 250 300 350

350 iterations

kdh1 14—0ct-2021 00:51



